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Sul;_ _i. Discrete Mﬁathematicalngtl-'uctures Sub Code: | 17CS36 - E Branch: [ 1S / ¢S —A ,6,
{Date: | 10/09/2018 | Duration: |90 minutes | Max Marks: |50 | Sem /Sec: HAandB OBE
Question 1 is compulsory and answer any six from Q.2 to Q.9 MARKS | ﬂil'{ﬁl,
1 Obtain an optimal prefix code for the message ROAD IS GOOD. Indicate the code for [08] CO3| 1.3
the message. R -
2 Write a short note on Konigsberg Bridge Problem. [07] 1CO3 L2
3 Check the following graphs for Isomorphism. [07] [CO5| L3
|
4 Prove that a tree with n vertices has n-1 edges. [07] |COS| L3
5 (i) If a tree T has four vertices of degree 2, one vertex of degree 3, two vertices of  [07] €03 L3
: degree 4 and one vertex of degree S, find the number of leaves in T. |
(ii) Check whether there exists simple graphs corresponding to the following degree ‘
sequences |
(@ 1,1,2,3
(b) 2,2,4,6
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Determine the order |V| of the graph G = (V, E) in the following cases [07]  CO3
(i) G is a cubic graph with 9 edges.

(ii) G is a regular graph with 15 edges.

(iii) G has 10 edges with 2 vertices of degree 4 and all other vertices of degree 3.

Define the following with an example for each. [071 COs| L1
(i) complete graph (ii) regular graph (iii) bipartite graph N
Prove the following using laws of logic: [071 cot] L3

Q) p—olgor)e(prg)->r

@) oA (g ar)vigar)v(par)e r
Define Tautology and Contradiction. For any propositions p, q, r, verity whether the [07] |COI | L3
compound proposition [(p A —~q)->r]-=[p— (g v r)]is a tautology.

Jor C¢ Blacecsy

§N-—-€  Check, U m&dﬁ b/t WM)M?( oS et (07] Cot1 L3
pra
b (47q)
h —3 (Svh)

178
ae T

Determine the order [V| of the graph G = (V, E) in the following cases [071 | CO5 L3 |
(i) G is a cubic graph with 9 edges. i |
(ii) G is a regular graph with 15 edges.
(iii) G has 10 edges with 2 vertices of degree 4 and all other vertices of ' i

degree 3. | |
Define the following with an example for each. 71 Cos| 11|
(i) complete graph (ii) regular graph (iii) bipartite graph | 7 ]
Prove the following using laws of logic: [07] cor| 13 |

(i) p—> (q —>r)<::> (pAq)»;'

(ii) [—.p/\(—.q/\r)v[(q/\r)v(pf\r)]mr ; :
Define Tautology and Contradiction. For any propositions p, g, r, verify whether the 071 [cor 13|
compound proposition [(p A ﬁq) - r] — [p — (q % r)]is a tautology.
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